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Dear Students,

As explained in the Programme Guide, you have to do one Tutor Marked Assignment in this
Course. The assignment has been divided into three sections. Section A Consists of long answer questions
for 10 marks each, Section B consists of medium answer questions for 6 marks each and Section C
consists of short answer questions for 5 marks each.

Assignment is given 30% weightage in the final assessment. To be eligible to appear in the Term-end
examination, it is compulsory for you to submit the assignment as per the schedule. Before attempting the
assignments, you should carefully read the instructions given in the Programme Guide.

1. Those students who are appearing in December 2025 Term End Examination they have to
submit latest by in 15th October 2025.

2. Those students who are appearing in June 2025 exams. They have to submit the same latest
by 15th March 2025.

You have to submit the assignment of all the courses to the Coordinator of your Study Centre.



TUTOR MARKED ASSIGNMENT

COURSE CODE : BCOG -172

COURSE TITLE : INDIAN ECONOMY
ASSIGNMENT CODE : BCOG - 172/TMA/2025
COVERAGE : ALL BLOCKS

Maximum Marks: 100

Note: Attempt all the questions.
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Section — A

What is meant by inequalities in income distribution? How can it be overcome?

Write down the major instruments of monetary policy?
Bring out the important causes of poverty.
How does agriculture play a dominant role in the development of an economy? Explain.

Explain the organizational structure of WTO. What is the role of trade policy review
committee?

Section — B

How is exchange rate determined under purchasing power parity theory?

Describe the role of Government in Federal Economics.

Discuss in detail Industrial Policy Resolution, 1956.

What do you mean by technological reasons of low productivity?
What do you mean by public expenditure? Describe its constituents?

Section — C

Distinguish between the following:
a) Economic Infrastructure and Social Infrastructure

b) Conventional and Non-conventional Sources of Energy
¢) Public and Private Sector
d) Underdevelopment and Development

Write short notes on the following:
a) Liberalization

b) ICT Products
¢) Tertiary Education
d) Human Capital
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